HL— [RILT7A+—< ] #RE R

mi 2 {SL—S275383) ZER
B0 2734 x B17 5300 X 553250
WEaES HaES |[Hasd 3 WEaES HMaES |[Hasd fE %
G253M0010000| & # Bl 1 G—2681 | G25300870020 (R T4 2
v-3510 |G253M0030000 A& Al 1 1080 x 130 % 70 (94 kg)
G253M0020000| &+ # 1 |VL—OO43|VL53M0200000 BE SR K | 3 |
G253M0040000| 5 &# # 1 2850 X 695 X 100 (247 kg)
3000X% 170X 110 (156 kg) |V|_—0043 |VL53M0200000 BE/SRJL K | 3 |
G253M0050000(#& & #: 1 2850 X 695 X 100 (247 kg)
V-2611 |G253M0120000|# 47 1 |V|_—0043 |VL53M0200000 AT PN | 3 |
G253M0130000| i #T 1 2850 X 695 x 100 (247 kg)
2785 X 200 X 105 (138 kg) |V|_—0043 |VL53M0200000 BE/SRJL K | 3 |
VL-0020 |J253M0060010 Alo—F—% & 1 2850 X 695 x 100 (247 kg)
J253M0070010|RIa—4+—4 A 1 |VL—OO43|VL53M0200000 BE/SRJL K | 3 |
3570 X 200 X 180 (292 kg) 2850 X 695 X 100 (247 kg)
VL-0021 |J253M0080000 #Fa—F—H% & 1 |VL—OO42|VL53M0200000 BE/SRJL K | 2 |
J253M0090000|#0—F—% A& 1 2850 X 695 X 70 (_16.9 kg)
2970 X 110 X 80 (118 kg) |VL—0046 |J253M0210000 BE/NRJL I | 1 |
|V|_—0023 |J253M0100000|EPF‘£1$$ | 8 | 2850 X 510 X 50 (7 k)
2890 X 105 X 55 (195 kg) F253M0330010 | E#R/KE1Y ZEHiI 1
| VL-0523 |J253M0100000|EPF‘£1$$ | 5 | F253M0350010 [E4R/KE1Y Al 1
2890 X 85 X 55 (122 kg) F253M0340010 B4R /KLY E% 1
| SL-2524 |J253WO170001 A | 13 | SS-3555|F253M0360010 | B4Rk EIY Hik 1
2800 X 165 X 60 (189 kg) F253M0470010 (& #:KE1Y EHRI 2
| VL-0024 |J253M0110000|¢5&H€ | 2 | F453M0500010 | & #KENY 6
3045 X 245 X 145 (22 ke G25300630000 | [ O = [E £ #% 2
G253M3140000| R FESH 1 3585 X 222 X 98 (236 kg)
V-S2630 | G25303240000 hRFERAM 1 | S-2682% | G253*0710000|J§/\°a‘<)b th | 2 |
G253M3150000(— A& A E (uHY)SH 1 2490 X 285 x 95 (103 kg)
G25303250000 (— iR E N+ 1 |S—2682*|G253*0710000|J§/\°a‘<)lx h | 2 |
2710% 145x% 110 (321 kg) 2490 X 285 X 95 ( 10.3 kg)
V-S2032 |G253M3150000| — B (RHY)SE 2 | |s-2682+|a253+0710000 |/ $2 L | 2 |
G25303250000 [— iR N+ 2 2490 X 285 X 95 (_10.3 kg)
2710 X 140 x 87 (319 k&) | s—2682*|G253*0710000|J§/€*)L th | 2 |
V-52032 |G253M3150000 —iBE (\HY)SH 2 2490 X 285 x 95 (_10.3 kg)
G25303250000 | — B B B A## 2 | |s-2682+|a253+0710000 |/ $2 L & | 2 |
2710 % 140 % 87 (319 kg) 2490 X 285 X 95 ( 10.3 kg)
os-2633 | F253M0180000 8%/ S— 1 | | s-2682% | G253+0710000|B/ SR | 2 |
G253M0280000 | 5F4% 1 2490 x 285 X 95 (_10.3 kg)
2730% 197 x 78 (102 kg) S-2683% | G253%0720000 BRIV (84T 1
G253M0270000 | RiT 1L #E 4R 1 G253%0730010 |GE/S#%J)L T 1
V-26a5 |G253M0680000 EiRATE A/ \— 1 2490 X 310 X 95 (138 kg)
| AT-JG2 | 1399813100 |#t-ThEe0(5xm)i=2050 | 1 |
2970 X 61 X 61 ( 1 ke
2755 X 430 X 150 (136 kg)
V-2036 |G253M0230000|Z{E#EHR &l 1
G253M0250000| A& 1L #E4R Bl 1 KEBAES-HABFSOHMIBAESESR
3120 x410% 110 (202 kg)
v-3537 |G253M0240000|Z LR % 1
G253M0260000| 1L itk % 1
2380 X 310 X 105 (115 kg)
J253M0370000 |#L—)L 2
J253M0380000|/=TL—JL % 1
VL-2680 | J253M0390000|/-TL—JIL & 1
M253M0450000{ R T2 5 H/\— 2
2000040050 [EESIZTFIF#E 1
3182 %127 %55 ( 164 kg)



AL—2 [(RILT74—=] 1R E1ERHHE

22 {SL—S2753) ZER
B0 2734 x B{T 5300 X 53250
WaEE | HLEE (B84 Bx| [(Hazs | HLES [H5% [E%]
G253M0400000|RL—JL 2 X INOFEDDAHEE
G253M0410000|#L—J/LiEHEE 6 | | s-2660 |F253M0290000| B4R Al | 2 |
G253M0420000|#&L—ILItHEE % 2 3576 X 785 X 70 (269 kg)
G253M0430020|;8E 4 £ 1 | |.S-2660 |F253M0290000|Z4R4R Bl | 2 |
G253M0440020|;B8EE A 1 3576 X 785 X 70 (269 kg)
GYOOMO0810020| F & () 2 | s-2561 [F253M0310000(E1R1R #% | 2 |
GYOOMO0820040|F ¥ (F) & 1 2360 X 785 X 70 ( 179 kg)
GY0OMO830040| F = (F) & 1 | [ s-2561 [F253M0310000| E4R1R % | 2 |
GYO0M0840000| & 13 2360 % 785 % 70 ( 179 keg)
GYOOMO0850020| ¥ & (FE 1) &£ 12 X fEEBOIRDT
GY0OMO0860020| 8% (FE 1) A 12 | | S-z2660[Fz53M0290000| B4R &1 (HERLR) | 2 |
G25300460000 [ R T H AR—H— 2 3576 X 785 X 70 (269 kg)
S253M0510000|EYvav£ B & 1 | s-z2660 [FZ53M0290000| E1B4R &1 (HERLR) | 2 |
S253M0520000 |7y ave B A 1 3576 X 785 X 70 ( 269 kg)
S25300530000 |12 CEES 2 | s-z2561 [Fz53M0310000| E4R4Rx % (WEERELVHE) | 2 |
S253M0540000|FEYviav =T 2 2360 X 785 X 70 ( 179 kg)
G25300510000 |7 H—S B 2 | s-z2561 [FZ53M0310000| E1B4R % WERLR) | 2 |
G25300520000 & #k=E£ B 2 2360 X 785 x 70 ( 179 kg)
4984800358 |{t#fa—4+— & 1 X SRR
4984800359 |{tiga—4+— A 1 FZ53M0330010(E4R/KP1Y ZERIGESRBAR) | 1
G25300560000 |EFFELEHEE 2 FZ53M0350010(E4R/Kt1Y HEIGEERLR) | 1
G253M0570010|EB#EHF /L 32 FZ53M0340010|EB4E/KE1Y E#EZEALA) [ 1
4984800360 |&#:yNAH/\— 6 SS-Z3559 FZ53M0360010| ER/KEIY HREEZRAVH) | 1
G253M0590000| B4R a—F—H/\—RI XL 1 F253M0470010 (& #Kt1Y AR 2
G253M0600000| B#Ra—F—H/\—RilH 1 F453M0500010 (& #/KE1Y # 6
G253M0610000|BBa—F+—H/\—#% & 1 G25300630000 | fEl O 1= & & #5 2
G253M0620000| B Ra—F+—Hh/\—#FA 1 3585 x 225 x 103 ( 236 kg)
G25300650000 | AL EMRIESHEE £ 1 * EN B8 & ($— ARAZAE R (T L CRUDERTT
G25300660000 [AT{E#EHRLEHEET i =11 I BREEEL |
4989800133 |[JA4¥ D255 F D4) 2 HHE12 = EN
4989800104 |74~ —41)vT O4F 3 343 586 kg 676 kg
GY0001000000 | 7> h—#E 2
SL-S2502 jjg}gggg(‘)g FUH—RLEGohTurED) | ¢
4401811002 | (BT ILFYMMEER)
4986300114 |BHKT—T (ES>) 2
4985700097 |7RFryT D17 10 HRIEE S EEE BamEs(*x) | HAFES(*)
4985700109 |RL7vFvyF 4 SL-S2753W| L— T4k w W
4985700026 |falF+vy7 44 SL-S2753S| 4 )L I7— JL/N— S S
4986000033 |Zx)Lbh/\wF > (6 x20%5) 33
4401806023 |EBiREE 33
4985700126 |EHRA M6FxyvS 33
4401506001 |M67F vk (15&) 33
*| 4401206125 |M6 X 55XFANRILL 21
*| 4401206127 |M6 X 757xFAMILE 4
4401206123 |M6 X 407 JLE 54
4401206122 |M6 X 2075 &AL+ 4
4401206117 |M6 X 1675 RILE 225
4400360008 |M6x 12 E54al 22
*| 4401506029 (M6 T ftRAF vk 98
4400350087 |M5 X 12+%5 4l 170
4401205032 |5%x 127542 vE L 34
4401204014 |Y=IFtPANTHR22 (4 X 13) 13
4401208033 |M8 x 2075 AR ILK 2
4401508017 M85 U HRAF vk 2
4984800317 |##E :60(APEAIVILI0) 3
4984800215 |T )L 60-80° 1
4401204015 |PANTHR4L (4% 16) 10
4985700017 |fE{+45 OAY(SG-50A) 1
4985700099 |THRRLEHF v 6
4987200021 |a—F2 4% (XK) 1
4989800094 |AAJL 1
4989800135 |#REER)—TP8 2
4987200002 |FEIEEFI 1
5405340212 |{REEE 1
4201898224 |##IEER (Z 2T L—) 1
EG11SC000000|#f 37 5 BAE (Jhr &) 1
*|EG11SCS00050|#H 3 ERBAE (FEER) 1
425 %330 % 270 ( 185 kg)



HL—2 [(RILTA—7] EHE {HEEAH

12 {SL—S2753L) ZEH
fE1 0 2734 x 317 5300 X 553250
HaEs HMmES |[Haf {E 2% Hass HMaES |[HafH {E %
G253M0050000|#& & # 1 F253M1100000 [ E 4R A/ \—Hil 1
V-2611 |G253M0120000|# 41 1 F253M1110000 | B4R A/ \—rF 1
G253M0130000| FiT#7 1 SS-L560 | F253M1130000 | B84/ \—1 (5300) 1
2785 % 200 X 105 (138 ksg) F453M0500010 [&#7KE1Y & 2
VL-L020 |J253M1010000 |BiT4E&E 4 1 G25300630000 | fif O { [ % 4% 2
3650 X 340 X 160 (35 kg) 2379 X 370 X 50 (_15.6 kg)
VL-L021 |J253M1020000 | % #E 5845 1 VL-0043 [VL53M0200000|B¥/SRJL K 3
3015 X 150 X 85 (148 kg) 2850 X 695 X 100 (247 kg)
SL_L523 [J253M0100000|Haf4E 3 VL-0046 [ J253M0210000 | B¥/XRJL /] 1
J253W0170001 [{FA 4 3 2850 X 510 X 50 (7 kg
2890 X 85 X 55 (126 kg) S-2682% | G253*0710000 |FE/SRJL & 2
V-L556 | G253M1030000| 2 i 1 2490 x 285 X 95 (103 kg)
2955 X 460 X 140 (30 kg S-2682% | G253*0710000 |FE/SRJL & 2
V-L557 |G253M1040000| 2 1 2490 x 285 %X 95 (103 kg)
2230 X 365 X 140 (_19.1 kg) S-2682% | G253*0710000 |FE/SRJL & 2
G25301050000 | 2:@EfEEE TR 1 2490 X 285 X 95 (_10.3 kg)
V-LO55 |G253M1060000|:2:E&E4SE T4t 1 S-2682x* | G253+%0710000 |FE/ SR JL 2
G253M1070000| 2:@fEEE L4t 1 2490 X 285 X 95 (_10.3 kg)
1040 X 70 X 60 (64 kg) S-2682% | G253*0710000 |FE/SRJL & 2
G253M3140000(F R FESH 1 2490 x 285 X 95 (103 kg)
V-52630 | G25303240000 | R £ 2 A# 1 S-2682x* | G253+0710000 |FE/SRJL 2
G253M3150000| — ¢ (7xdhHY)SH 1 2490 X 285 X 95 (_10.3 kg)
G25303250000 | —fE B E N 44 1 S-2683+ | G253+0720000 |5/ SR L (§Ef) 1
2710x 145X 110 (321 kg) G253*0730010 |FE/SRJL T 1
V-S2032 |G253M3150000|—#FE (R&HY)SE 2 2490 X 310 X 95 (_13.8 kg)
G25303250000 | — & FFE 44 2 AT-JG2 | 1399813100 [H7-THE60(ZFD)L=2950 1
2710 X 140 X 87 ( 319 kg) 2970 X 61 X 61 ( 1 ke
V-S2032 |G253M3150000|— R (R&HY)SE 2
G25303250000 | — % B E 44 2
2710 X 140 X 87 (319 kg) XM RES-RHABFSO+NIIBESETSR
VL-SL025 | J253M3510000 |37 4 1
3170 X 65 X 65 (14 kg)
Ss-2633 |F253M0180000|RTA/3— 1
G253M0280000 | EF4# 1
2730x 197 x 78 (102 kg)
G253M0270000| A1 $E4R 1
V-opas |G253M0680000| R ATE A/ 3— 1
2755 X 430 X 150 (136 kg)
J253M0370000 |#L—JL 2
J253M0380000|f=TL—JL % 1
VL-2680 | j253M0390000(7=TL—JL & 1
M253M0450000| 2 745 H/3— 2
2000040050 [BESIE=TFIF#E 1
3182 % 127 X 55 (164 kg)
G-2681 | G25300870020 | R F Y4 2
1080 % 130 X 70 ( 94 Kke)




HL—2 [(RNILT+—=] EHEE 1R 0AH

22 (SL—S2753L) ZEH
10 2734 x B14T 5300 X & X3250
HEEE | HaEE [Haf By [ Hass | #2%S (B84 [1E %k |

G253M1080000|F REEZ(TE EEH#H 2 X INOFEED DHEE
G253M1140000| & it X £ B S 1 | s-2660 [F253M0290000|E4B4R il | 2 |
G25301150000 |Ri{E$EtRiEE & EEH 1 3576 X 785 X 70 ( 269 kg)
G25301160000 |EFhA#E X & B 1 [ s-2660 [F253M0290000[E4B 4R il 2 |
G253M1170000|FT{E FEtREREH/ N\ — 1 3576 X 785 X 70 ( 269 kg)

*|G253M3520000| T AL REE B2 2 | | S-2561 [F253M0310000[EBR % 2 |

*| G25303530000 | T&€ & 1 2360 X 785 X 70 ( 179 kg)

*| 095E00013000 |7 ¥ R 42— 2 | s-2561 [F253M0310000|E1R#x #% 2 |

G253M0400000{RL — )L 2 2360 X 785 x 70 ( 17.9 kg)
G253M0410000(#&L—)LIEHE B 6 X fERRFOEE

G253M0420000|#L—)LIEHEE 1% 2 | S-z2660 | FZ53M0290000| B4B4R &1 (WEREALH) | 2 |
G253M0430020|;B8E & £ 1 3576 X 785 X 70 (269 kg)
G253M0440020[;BE & A 1 | S-22660 |FZ53M0290000 | E4B4R Bl (WEEJEAH) [ 2 |
GYOOMO0810020|F & (k) 2 3576 X 785 X 70 ( 269 kg)
GYOOMO0820040| F & (F) & 1 | sS-z2561 [Fz53M0310000| E4R4R % GEERLVE) | 2 |
GYOOMO0830040|FE (TF) A 1 2360 X 785 X 70 ( 179 kg)
GY0OMO0840000)| 42 & 13 | [s-z2561][Fz53M0310000[E4EIR % (EERLE) | 2 |
GY0OOMO0850020|&% (FE{F) & 12 2360 X 785 x 70 ( 179 kg)
GYOOMO0860020|8 & (F & A 12 X tEZBOREE

G25300460000 (R T2 F AR—H— 2 FZ53M1100000 | B4R A/ \—RiE=H 4 B) 1
S253M0510000|BE4viave B & 1 FZ53M1110000| B H/\—h(EE=R LD B) 1
S253M0520000| BV v ave B A 1 SS-ZL560|FZ53M1130000 | B4R/ \—1% (5300) fETRA ) [ 1
$25300530000 |#a U FES 2 F453M0500010 | & #KH1Y) & 2
$253M0540000 | v a2+ 2 G25300630000 | 5 A & 7 45 2
G25300560000 [EFfElEHEE 2 2379 X 370 X 50 ( 156 kg)
G253M0570010|EiEH KL 32

4984800360 |&#yNH/N— 2

G253M0590000| BtRa—F—H/\—RiI & 1 * EIDE G IE— AR ERBRICRH L TELLHMA TS,
G253M0600000| B4R I—+—H/\—Fi& 1 a8 | BERST |
G253M0610000| BiRa—F+—H/\—14 & 1 R g5 ES

G253M0620000| B#Ra—F—Hh/—% A 1 27{88@ 435 kg 524 kg
G25300650000 |gi{b#EtR1IESHEE 1

G25300660000 |RI{EEHRIEHEE T 1

SL-SL2502 | 4989800133 |74 D25(45FD4) 2

4989800104 |JAv—-')vT ©4FH 3 _ _ _ —

*| GY0001000000 | 7> h—i%E 1 HErEEs RE¥ HBaEs(x) | HaBES(*x)
228012 | FUh—RIL (Fuk Dy BE) 4 SL-S2753LW| L—1kTAk W W
4401811002 (BT ILFybER) SL-S2753LS| HILT7— JLin— S S

4986300114 |BAAKT—F (ETV) 3
4985700026 |RALCF¥vT 18
4986000033 |Zx/Lb/\wyF>1 (6X20%5) 33
4401806023 |EIRES 33
4985700126 |EBi#EA M6Fx+ry 33
4401506001 |M6+ v (17&) 33

*| 4401206125 [M6 % 557X Lk 21
*| 4401206127 |M6 X 75/XFEARILE 4
4401206123 |M6 x 407<FE R Lk 12
4401206122 |M6 X 207X ILL 4
4401206117 |M6 x 167xAARILE 142
4400360008 |M6 x 12&54a 22

*| 4401506029 |M675 It RAFTVE 39
4400350087 |M5 x 12+55~_ 4l 170
4401205032 |5x 1274 vE L 34
4401208034 |M8 X 75t LRNAMRILL 10

*| 4401208033 |[M8X 2075t RAARILE| 33
4401508017 |M8ISU At RAFT Y 18
4401204014 |Y—IfFPANTHR4L(4 X 13) 5
4984800317 |##E :60(APEAIVIL30) 3
4984800215 |T)L7R60-80° 1
4401204015 |[PANTH R4l (4% 16) 10
4985700017 |fE{+4 A Ak (SG-50A) 1
4985700099 |THRRLEIHF YT 6
4989800094 |A AL 1
4989800135 |#REFRJ—TIP8 2
4987200002 |FE1EEF| 1
EG11SCOLO000|#A37 ZnBAE GEFE) 1

*|EG11SCSLO050[#H3ERBAE (ZER) 1

425x 330 % 270 ( 194 kg)



